Answers – Thursday 14th January 2021Early Bird (Mrs Smith’s Group)
Early Bird Maths
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What fractions are the arrows pointing to?
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- Hereis part of a number line.
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o Label the number line with the representations.
The first one has been done for you.
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@ Wrot fractions are the arrows pointing to?
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Drow arrows from each fraction fo ifs posifion on

the number line.
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How many ways can you show a
difference of one quarter on the number
line?
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€ Using hyphens

1. a) co-ordinate b) re-enter ¢) co-operate d) co-own
2. a) built-up b) well-known c) life-like d) mother-in-law
3. Example: On Saturday, the girls liked to ice-skate.
4.

fair-haired, pre-war, quick-thinking,
eye-catching, re-establish, multi-purpose
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a) 654,895 —235,553 =419,342

1) 674 x 37 = 24,938

2) 4/9x3/5=12/45

3) 2/3+17=2/51

4) % of 453,535 = 226,67.5

5) Write 4,535,746 in words
Four million, five hundred and thirty-five
thousand, seven hundred and forty-six

6) 55% of 324 =178.2

7) 212—-16/7=9/14

8) 6,434 +17 =378 8/17

9) 6-47=-41

10) 4.56 x 1.6 = 7.296

11)Half way between 24 and 26.4 = 25.2
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1)
2)
3)
4)
5)

6)
7)
8)
9)

654,895 — 235,553 =419.342
674 x 37 = 24,938
4/9x3/5=12/45

% of 453,534 = 226,767
Write 135,746 in words

One hundred and thirty-five thousand,
seven hundred and forty-six
62-30=6
3/4+5/8=11/8=13/8

423 +10=42.3

50 x 8.9 = 445

10) 713.2 - 98.45 = 614.75
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a) Write the year the clarinet was invented
in Roman Numerals. MDCXC
b) How long ago was this? 331 years
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Start with more practice if
you did not get this correct or
else move straight to fluency.
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Label the number line with the fractions.

Explain your method.
0 1

3 || L
8

alw





